

Seller (Exporter)

RLE Technologies 104 Racquette Drive

Fort Collins

Consignee

Safat 13002

Kuwait

Kuwait Free Trade Zone

CO USA

CERTIFICATE OF ORIGIN ORIGINAL

VERIFY.FTGS.US

TO VALIDATE, GO TO | Certificate Number: DWTC-COO-53741-672d3a016d442 Date: November 07, 2024

Forwarding Agent

Port of Loading Transport Type Air Fort Collins **Destination Country Destination Port** Kuwait Kuwait **Export Date Exporting Carrier** DHL 2024-10-29 Import Permit Number Bill of Lading / AWB 1448077330

Buyer (Importer)

Marafie Engineering Group Company WLL

Remarks

Owner or Agent

Consignor reference: 37805



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
D2100	8.44 lb	United States
.S.Code: 8537109170 Marks: 4		
D5200	10 lb	United States
.S.Code: 8537109160 Marks: 1		
SWA-DC-24-KIT	1.56 lb	China
.S.Code: 8504409540 Marks: 4		
C-200	5.24 lb	United States
.S.Code: 3926908500 Marks: 4	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
C-50	64.5 lb	United States
.S.Code: 8544429090 Marks: 43		
C-25	1.62 lb	United States
.S.Code: 8544429090 Marks: 2		ZXXXX
SC-50	4.62 lb	United States
.S.Code: 8544429090 Marks: 6		

Name of Authorized Trade Association





- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

 The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin
- applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD")
- is accurate, true and complete.
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.

Seller (Exporter) RLE Technologies	Transport Type Air	Port of Loading Fort Collins
104 Racquette Drive Fort Collins CO USA	Destination Country Kuwait	Destination Port Kuwait
Consignee	Export Date 2024-10-29	Exporting Carrier DHL
Marafie Engineering Group Company WLL Safat 13002 Kuwait Free Trade Zone	Import Permit Number	Bill of Lading / AWB 1448077330
Kuwait	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

Consignor reference: 37805

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
NSC-25	.84 lb	United States
H.S.Code: 8544429090 Marks: 2		
NSC-10	.84 lb	United States
H.S.Code: 8544429090 Marks: 4		
SC-10	2.46 lb	United States
H.S.Code: 8544429090 Marks: 6		
end of products	=====	
	N WWW.	

Name of Authorized Trade Association





Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin

applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
-The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.

The Applicant is authorized to give the undertakings set out herein.



RLE Technologies, Inc.

104 Racquette Drive Fort Collins CO 80524 United States 970-484-6510

Cosignee/Importer

Marafie Engineering Group Company WLL Safat 13002 Kuwait Free Trade Zone Kuwait 122 United States

Commercial Invoice

Page 1 of 2

Date

10/31/2024

Purchase Order #

PO-DAT-24-00029

fem	Description	Schedule B	Weight (lbs)	Qty	Country	Unit Price	Amount -
.D2100	SeaHawk Distance-Read Leak Detection Controller; LED display, web enabled, includes LC-KIT (leader cable & EOL), requires an isolated 24VDC power supply (PSWA-DC-24, 24V-POE-Kit or LD-ENC)	8537109170	2.11	4	United States	1,038.11	4,152.44
.D5200	SeaHawk Distance-Read Leak Detection Controller; touch screen, web enabled, includes LC-KIT, requires hardwired 110/120/230-240VAC	8537109160	10	1	United States	2,560.76	2,560.76
PSWA-DC-2 -KIT	Power Adapter; 100-240VAC 50/60 Hz to 24VDC (isolated), w/ barrel connector, includes type A, C, G, and I blades	8504409540	.39	4	China	51.50	206.00
C-200	J-clips; qty 200 (for use with SC, SC-R, SC-ZH and NSC)	3926908500	1.31	4	United States	152.21	608.84
C-50	SeaHawk Sensing Cable; conductive fluids, 50ft (15.24m), pre-installed male/female connectors	8544429090	1.5	43	United States	195.38	8,401.34
C-25	SeaHawk Sensing Cable; conductive fluids, 25ft (7.62m), pre-installed male/female connectors	8544429090	.81	2	United States	120.25	240.50
C-10	SeaHawk Sensing Cable; conductive fluids, 10ft (3.04m), pre-installed male/female connectors	8544429090	.41	6	United States	81.27	487.62







RLE Technologies, Inc.

104 Racquette Drive Fort Collins CO 80524 United States 970-484-6510

Commercial Invoice

Page 2 of 2

Date

10/31/2024

Purchase Order #

PO-DAT-24-00029

Sensing Cable; 50ft (15.24m), pre-installed	8544429090					
female connectors (for use with SD-Z, SC, & SC-ZH)	5544425000	.77	6	United States	72.77	436.62
female connectors (for use with SD-Z, SC,	8544429090	.42	2	United States	57.20	114.40
female connectors (for use with SD-Z, SC,	8544429090	.21	4	United States	47.57	190.28
ational Processing Fee			1		35.00	35.00
5/1/2	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, & SC-ZH) national Processing Fee	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, & & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, & & SC-ZH)	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH)	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH)	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) 4 United States	Sensing Cable; 25ft (7.62m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) Sensing Cable; 10ft (3.04m), pre-installed /female connectors (for use with SD-Z, SC, R & SC-ZH) 8544429090 2 United States 57.20 4 United States 47.57

| Subtotal | 17,433.80 | Shipping Cost (DHL) | 0.00 | Total (USD) | \$17,433.80 |

The undersigned Agent of RLE Technologies, Inc. declares that the above listed goods shipped to the Consignee are products of the United States. These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations.

Signature Weath anyough

Date 10/31/2024

State of Colorado, County of Larimer, Sworn to me_

Rebecca Sutton

this 3

Day of

october .2

, 20 24

My Commission Expires

5/1/2028 Notary Public







Packing Slip

Order Date	Order #
9/4/2024	37805

Page 1 of 2

Ship To

ATTN: MR ASLAM KHAN MARAFIE ENGINEERING GROUP CO WLL ARDIYA INDUSTRIAL AREA BLK#2, BLDG#270-271 KUWAIT ARDIYA 13002 Kuwait

		Ship Via		PO#		Ship Date		
				PO-DAT-24-00029 10/29/2024		2024		
Item	Description	Order	B/O	Ship	Sch B/HTS	ECCN	Country	
LD2100	SeaHawk Distance-Read Leak Detection Controller; LED display, web enabled, includes LC-KIT (leader cable & EOL), requires an isolated 24VDC power supply (PSWA-DC-24, 24V-POE-Kit or LD-ENC)	4		4	8537109170	EAR99	United States	
LD5200	SeaHawk Distance-Read Leak Detection Controller; touch screen, web enabled, includes LC-KIT, requires hardwired 110/120/230-240VAC	1		1	8537109160	EAR99	United States	
PSWA-DC-24-KIT	Power Adapter; 100-240VAC 50/60 Hz to 24VDC (isolated), w/ barrel connector, includes type A, C, G, and I blades	4		4	8504409540	EAR99	China	
JC-200	J-clips; qty 200 (for use with SC, SC-R, SC-ZH and NSC)	4		4	3926908500	EAR99	United States	
SC-50	SeaHawk Sensing Cable; conductive fluids, 50ft (15.24m), pre-installed male/female connectors	43		43	8544429090	EAR99	United States	
SC-25	SeaHawk Sensing Cable; conductive fluids, 25ft (7.62m), pre-installed male/female connectors	2		2	8544429090	EAR99	United States	
SC-10	SeaHawk Sensing Cable; conductive fluids, 10ft (3.04m), pre-installed male/female connectors	6		6	8544429090	EAR99	United States	
NSC-50	Non-Sensing Cable; 50ft (15.24m), pre-installed male/female connectors (for use with SD-Z, SC, SC-R & SC-ZH)	6		6	8544429090	EAR99	United States	
NSC-25	Non-Sensing Cable; 25ft (7.62m), pre-installed male/female connectors (for use with SD-Z, SC, SC-R & SC-ZH)	2		2	8544429090	EAR99	United States	
NSC 46V	Non-Sensing Cable; 10ft (3.04m), pre-installed make/female connectors (for use with SD-Z, SC, SC-R & ST, 3.2	4		4	8544429090	EAR99	United States	





104 Racquette Drive Fort Collins CO 80524 United States 970-484-6510

Packing Slip

Order Date	Order #
9/4/2024	37805

Page 2 of 2

em	Description	Order	B/O	Ship	Sch B/HTS	ECCN	Country
PF	International Processing Fee	1		1			
	Customer has requested copies of the following documents:						
	Certificate of Origin - Chamber Stamped Commercial Invoice - Chamber Stamped						
	Ship Collect: DHL# 968276172						
	Courier Address MARAFIE ENGINEERING GROUP COMPANY W.L.L Shuwaikh, Free Trade Zone, Seafront, Bldg. F95A-B, Next to KFH. P.O Box 122, Safat 13002						
	Kuwait Contact person : Ms. Anila Kodarathu Techno Commercial In-Charge -PSD d. +965 24611203 f. +965 24611209 p. 122 Safat, 13002 Kuwait						
	a. Shuwaikh, Free Trade Zone						
E CENT							